H ekiowon ax+ =10
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4. 17 No Moete 116 eEloOoELS:

0 x+1=X+10_3 i)

3x+ 1

_x+_1

+1 -1

3 6

Lo 5x—16 x+1 x+8
iv) = =

6 3 12

4. 18 No Moete 116 eElOOCELS:
. x+2 x+3 x+4 x+5
D 5=+ =5 "%
ili)2—)(_2—{-)(_2)(-{—7_2)(—{—5
4 2 4 3
3x+2 4x-—1 5x—2_x+1
5 10 § 4

v)

4. 19 No Moete 11 eEloOCELG:
) 3(34+2x)—(1-x)=2(4+3x)+x

i) 3(x—2)+5(x+1)=2(2x+7)+4(x+2)

2x—7_2x+1—x
4 2

V) X+

4. 20 Na Moete Tig eELloDoEL:
x—1 3-x 5-x x+1

4

A 1i1) YR

v) x+1=-3x—-1)=1-x

x—1 x+2 x-2 7(x+1)
3 P8 T8 T

o 1-2x 34x 2x+5 1-10x
M)t T 24

i)

i) 2x=3)+1=3(x-1)—(2+x)

. x+1_x_2x+3
2 4

— 2
3 X—l:—x

vi) X+ 3 3

2—-x 4-—x

) 5~ " 12 - 18 3

i) %(3x+19)+1 (2—”5) -

3
x+1 1/3x-—7
6 +Z< 7

2
iii)
L2 5

W 3[x-30ra) =

4. 27 Na Moete TiG eEloOCELS:

) &+ +@E-17=2(x+1)
i) (5x —3)* — 5x(x — 1) = 5x(4x = 5)

i) (3x+2)% - 24x = (3x - 2)°
iv) (3x+1)(2x —3) — (x = 3)(6x +4) =Tx

V) 2(x— 22+ (x+4)(x —4)+8=3x(x+1) — 11x
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4.22 Na \Moerte 116 e€loMOELC:

) 3(2x+1)—(x+1)2=2(x+3)— (x—1)*—1 i) 4(x+3)x—-3)—(2x+1)>=3
i) (x—1)(x+1)(x+2)— (x+1)*=5-x2 iv) (+x-1)" - (2 —x—1)2 =43
V) (x+3)(x—1)3:(X—2)2(x+2)2+2x(x—1)+1'

vi) X +8 = (x+2)* - 6x(x +2)

4.23 NoMoerte 116 eElohoEc:

p 2=l _3x-2 i T=5K_2-5¢
3x—6 3x+1 1+x X
i) 1+X2:+";FI=XZ;_X;L1—1 iv) 5(%-2) =%+1

y X+, x-1 vi)%—%:%

4.24 Na Moete 11¢ eElohoeic:
2x 6 2 2x

) 372713 W) 3=l
2x X 5x—12 Lo 2xX+3 1-2x 4 2x+3
—_t T e : _
Ill).’:)(—6 2x —4 +12—6x S X +x+1 x+1+x2+x
4 3 3x2 -8
V) S =0

X+2 x—-2 4-—x2

4.25 Na Moerte 115 eEloMoELG:
i 2x + 1 X 1 . X+1 X 1< 1 >

1) e —

XX—x xX2—-2x+1 x x—3 3x-9 2\ x-3
x—1 11 x+1 .y X+l x-2 = 2(x-9)
L Sy vy S M x3tme- e

1 3 3 x2+6

)

i _|_ =
(-1 x3+x2 x¥3-x2 x4_x2

4.26 No \Moete 116 eElohoec:




